1 P1C16F877

1.1.2
PORTD 8 4 4
PORTD 8
11 PORTD
#include <pic.h>
main()
{
TRISD=0X00 [*TRISD PORTD */
while(1) I* */
{
PORTD=0XFO /*  PORTD LED */
[* LED */
}
}
1.2.1 MSSP SP1
SPI SPI
12 SPI
[* spi */
void SPIINIT()
{
PIR1=0 I* SPI */
SSPCON=0x30 /* SSPEN=1 CKP=0 FOSC/4 */
SSPSTAT=0xCO
TRISC=0x00 /*SDO SCK */
}
1.2.3

#include <pic1687x.h>

I* 8 LED 1-8 8 */

static volatileint tablef20]={OxcO Oxf9 Oxa4 Oxb0 0x99 0x92 0x82 0XD8 0x80 0x90
Ox88 0x83 Oxc6 Oxal 0x86 Ox8e Ox7f Oxbf 0x89 Oxff}

volatile unsigned char data
#define PORTAIT(adr bit) ((unsigned)(& adr)*8+(hit)) I* */
static  bit PORTA_5 @ PORTAIT(PORTA 5)
[*spi */
void SPIINIT()
{
PIR1=0
SSPCON=0x30 /* SSPEN=1 CKP=0 FOSC/4*/
SSPSTAT=0xCO
TRISC=0x00 *SDO SCK */
}
I* */
void initial()
{
TRISA=0x00 *A */
INTCON=0x00 I* */
PORTA_5=0 *LACK */



}

*SPI */
void SPILED(int data)
{
SSPBUF=data
do
{
}while(SSPIF==0)
SSPIF=0
}
I* */
main()
{
unsigned I;
initial()
SPIINIT()
for(i=8 >0 i--)
{
data=tabl€fi]
SPILED(data)
}
PORTA _5=1
}
1.3.3
SPI
#include <pic.h>

/*

I* */
I* */
I* SSPIF */
I* */

1*SPI */
* 8

/*
/*

/*

12
8 LED

*/

*/

#define  PORTAIT(adr bit) ((unsigned)(&adr)*8+(bit))

static bit PORTA_5 @ PORTAIT(PORTA 5)

#define PORTBIT(adr  bit)

datic  bit PORTB.5 @ PORTBIT(PORTB 5)

((unsigned) (& adr)* 8+(bit))

datic  bit PORTB.4 @ PORTBIT(PORTB 4)

datic  bit PORTB.1 @ PORTBIT(PORTB 1)
datic  bit PORTB 2 @ PORTBIT(PORTB 2)

unsigned int |
unsigned char
int data

[*spi */
void SPIINIT()

{
PIR1=0

SSPCON=0x30
SSPSTAT=0xCO0
TRISC=0xD7

}

/*

void initial ()

{
TRISA=0xDF
TRISB=0XFO0
INTCON=0x00

*SDO

*/

/*

*/

*/

*/

*/

*/

*/

*/

*/


fanglei
I;


data=0X00
PORTB=0X00
j=0
}
I %
void  DELAY()
{

for(i =6553  --i

continue

}
I* x|

int KEY SCAN()

{
while(1)

{
if (PORTB_5==0)||(PORTB_4==0))

break

DELAY()

if (PORTB_5==0)||(PORTB_4==0))
KEY SERVE()

else j=0x00
return(j)

I* */

int KEY SERVE()

PORTB=0XFD
if(PORTB_5==0)
if(PORTB_4==0)
PORTB=0XFB
if(PORTB_5==0)
if(PORTB_4==0)
PORTB=0X00

while(1)
{

/*

/*RB1 RB2

)

/*
/*

/*
/*

j=0X01
j=0X03

j=0X02
j=0X04 /*
/*

*/
*/

PORTB */

if(PORTB_5==1)& & (PORTB_4==1)) break /*

}
return(j)

}
/*SPI */
void
{
SSPBUF=data
do
{

}while(SSPIF==0)

SSPIF=0
}
I* */
main()

{

SPILED(int data)

/*

/*

*/

*/
*/

0*/

*/

*/

*/



static int table[20]={0xcO0 Oxf9 Oxa4 Oxb0 O0x99 O0x92 O0x82 O0XD8 0x80 0x90
0x88 0x83 0Oxc6 Oxal Ox86 O0x8e Ox7f Oxbf 0x89 Oxff}
initial() /* */
SPIINIT() *SPI */
while(1)
{
KEY SCAN()
if(j!=0) I* j=0 */
{
data=tabl€]j]
PORTA_5=0 /*LACK 0 */
SPILED(data)
PORTA_5=1 I* */
}
}
}
1.4.1 PORTB “ K
13 PORTB * "
B ! */
void PORTBINT()

{
TRISB=0XFO I* */

OPTION=0x7F *B */

PORTB=0X00 *RB1 RB2 */

RBIE=1 *B */

PORTB=PORTB * B */

1.4.3

RB5 PORTB 5

#include <pic.h>
I* PORTB " " */
I* j $9 =1 S11 */
[*j=2 S10 j=3 S12 j=4x1
unsigned char data
unsigned int I
unsigned char i
const char table[20]={0xcO Oxf9 Oxa4 Oxb0 0x99 0x92 0x82 0XD8 0x80 0x90 0x88
Ox83 Oxc6 Oxal O0x86 O0x8e Ox7f Oxbf O0x89 Oxff}

B ” *]

void PORTBINT/()

{
TRISB=0XFO I* */
OPTION=0x7F
PORTB=0X00 *RB1 RB2 %]
RBIE=1 B *
PORTB=PORTB ¥ B %

}

I*spi *

void SPIINIT()

{



PIR1=0

SSPCON=0x30
SSPSTAT=0xCO
TRISC=0xD7

}

/*

void initial()

{

TRISA=0xDF
INTCON=0x00
data=0X 00

}

¥ */

void  KEYSERVE()

{
PORTB=0XFD

if(RB5==0) j=0X01
if(RB4==0) j=0X03
PORTB=0XFB

if(RB5==0) j=0X02
if(RB4==0) j=0X04

PORTB=0X00

}

/* */

void DELAY ()

{
for(i=6553 --i )
continue

}

/*SPI */

void  SPILED(int data)

{
SSPBUF=data

do
{

}while(SSPIF==0)
SSPIF=0

boid IDEDIS()

{
KEY SERVE()
data=tablfj]
RA5=0
SPILED(data)
RA5=1

}

I* x|

voidinterrupt keyint(void)

{
DELAY()

if (RB5==0)||(RB4==0))

*SDO

*/

/*
/*

/*

*/
*/

I* PORTB */

/*

[*
J*
/*LACK

/*

/*
/*
/*

*/

*/
*/

*/

*/

*/

*/

*/



IDEDIS()
PORTB=PORTB
RBIF=0

}

main()

{
initial()
PORTBINT()
SPIINIT()
&i()

while(1)
{
}

}

1.5.2

#include <picl687x.h>

volatile unsigned char
[*spi */
void  SPIINIT()

{
PIR1=0
SSPCON=0x30
SSPSTAT=0xCO0
TRISC=0x10

}

/*

void initial ()

{
TRISA=0x00
TRISD=0x00
INTCON=0x00

}

/*SPI */

int SPIIN()

{
RA4=0
RA4=1
SSPBUF=0
dof

}while(SSPIF==0)
SSPIF=0
data=SSPBUF
return(data)

[*
* B
[*
[*
r 1

/%
/*B

J*
/%

/*

data

*/

SPI

*/

*/

*/

RBIF

[* SSPEN=1 CKP=0

*SDI

*/

/*D
[*

[*74HC165
/* (LOAD
[*74HC165
/*

[  SPl
*BF

/*

/*

SCK

*/
*/

)

*/

*/
*/
RBIF*/
*/

*/

J7

FOSC/4 */

(LOAD

*/

*/

8 %
74HC165)*/
%

SSPSTAT
*/



* SPI

void SPIOUT(int data)

{

}
I* */
main( )

{

PORTD=~data

initial )
SPIINIT()
while(1)
{
SPIIN()
SPIOUT(data)
}
}
1.2.1 CCP

CCP

14 CCP

/*CCPL PWM
void  CCPLINIT()

{
CCPRIL=0X7F

CCP1CON=0X3C
INTCON=0X00

PR2=0XFF
TRISC=0XFB

}
1.2.3

#include <pic.h>

I* CCP1

/*CCP1 PWM

void CCP1INIT()

{
CCPRIL=0X7F

CCP1CON=0X3C

INTCON=0X00
PR2=0XFF
TRISC=0XFB
}
I* */
main()
{
CCP1INIT()
T2CON=0X04

do

8 */
I* */
I*SPI */
1*SPI */
I* */
PWM
*/
I* CCP1 PWM
* 2 1 8 01111111=7F*/
I* */
I* PWM */
I* CCP1 */
10 PWM 50%
10 PWM 50%*/
*/
I* CCP1 PWM
* 2 11 8 01111111=7F*/
I* */
I* PWM */
I* CCP1 */
/*CCP1 PWM */
I* TMR2
* PWM */



}while(1) I* PWM

* PWM */
}
1.3.3
2.
#include <pic.h>
I* " "WDT */
unsigned long I
I* */
void initial ()
{
OPTION = OXO0F I* WDT 1:128*/
TRISD = 0X00 *D */
}
I* */
void DELAY()
{
for (i=19999 --i )
continue
}
* */
main ()
{
initial () * */
PORTD = 0X00 *D O0H */
DELAY() I* *
PORTD = OXFF *D FFH */
while(1)
{
} /* */
}
1.4.3
PIC16F877 8 4
4 C SLEEP
“ Seep”
#include <pic.h>
I* PIC16F877
D 8 LED 4
*LED 4 LED 4 LED 4 LED */
unsigned long i
* */
void initial ()
{
di() I* " " */
RBIE=1 [*PORTB */
RBIF=0 I* B */
TRISB4=1
TRISB5=1
TRISB2=0



TRISB1=0 I* /0

TRISD=0X00 *D */
PORTB=0X00 I* *
PORTB=PORTB I* PORTB “
* ” */
}
I* */
main ()
{
initial() I* */
PORTD=0XO0F * 4 LED */
SLEER() I* */
PORTD=0XFO0 I* 4 LED */
while(1)
{
}
}
NOTE




2.1 A/D
21 A/D
/IA/ID
void adinitial ()
{
ADCONO = 0x51 1 A/D RA2 A/D
1 AD 8Btosc
ADCON1 = 0X80 1 ADRESH 6
1 RA2
PIE1 = 0X00
PIE2 = 0X00
ADIE=1 I/A/D
PEIE=1 1
TRISA2=1 1 RA2
}
212
A/D 10
#include <pic.h>
union adres
{int yl
unsigned char adre[2]
}adresult 1 A/D
unsigned char i
unsigned int  j
1l 1/0
void initial()
{
TRISD=0X00 /ID
i=0x00
}
/IA/ID
void adinitial()
{
ADCONO=0x51 1 A/D RA2 A/D
1 A/D Btosc
ADCON1=0X80 1 ADRESH 6
1 RA2
PIE1=0X00
PIE2=0X00
ADIE=1 IIA/D
PEIE=1 1
TRISA2=1 1 RA2
}
1
void delay()
{

10.



for(j=5535 --j ) continue
}
I
void alarm()
{
i=i"OxFF I
PORTD-=i /ID i
}
Il
void interrupt adint(void)
{
ADIF=0 I
adresult.adre] O]=ADRESL
adresult.adre] 1]=ADRESH // A/D
1
if (adresult.y1>0x200)
{
aarm() I
//0X200h)
delay() 1
}
else PORTD=0XFO 1l
118
ADGO=1 I A/D
}
1l
main()
{
adinitial() /IAID
initial () I /10
() 1
ADGO=1 1 A/D
while(1)
{
} 1
}
2.2.2 1I°C
1 C 1°C
nc
void i2cint()
{
SSPCON = 0X08 I SSPCON
TRISC3 =1 I SCL
TRISC4 =1 1 SDA
TRISA4=0
SSPSTAT=0X80 1 SSPSTAT
SSPADD=0X02 I 1’c
SSPCON2=0X00 1l SSPCON2
di() 1
SSPIF=0 /I SSP
RA4=0 1 74HC165

1.

A/D
yl

25V(

2.5V

74HC165



I 1°C
i

SSPEN=1 //SSP
}
2 C 1’C
j
In*c
i2cout()
{
SEN=1 Il 1’C
for(n=0x02 --n ) continue //
do {
RSEN=1 I 1’C
}while(SSPIF==0) Il
SSPIF=0 /ISSPIF 0
SSPBUF=0X58 In’c
do {
}while(SSPIF==0) /i
SSPIF=0 /ISSPIF 0
SSPBUF=0X01 n*c
do {
}while(SSPIF==0) I
SSPIF=0 /ISSPIF 0
SSPBUF=j In*c
do {
}while(SSPIF==0) Il
SSPIF=0 /ISSPIF 0
PEN=1 /i
do{
}while(SSPIF==0) Il
SSPIF=0 /ISSPIF 0
}
2.2.4
MAX518 DI/A D/AO

#include <pic.h>
1l PIC16F877 I°C D/A MAX518 D/AO
1
const char table]] ={0X80 0X86 0X8D 0X93 0X99 OX9F O0XA5 OXAB
0XB1 OXB7 OXBC 0OXC2 O0XC7 OXCC 0XD1l 0XD6 OXDA OXDF OXE3 OXE7
OXEA OXEE OXFl1 OXF4 OXF6 O0XF8 OXFA OXFC OXFD OXFF OXFF OXFF
OXFF OXFF OXFF OXFE OXFD OXFB OXF9 OXF7 OXF5 OXF2 OXEF OXEC
OXE9 OXE5 OXE1l OXDD O0XD8 0XD4 OXCF OXCA OXC5 O0XBF OXBA 0XB4
OXAE OXA8 O0XA2 0X9C 0X96 0X90 0X89 0X83 0X80 O0X79 0X72 0X6C
0X66 0X60 OX5A O0X55 OX4E 0X48 0X43 0X3D 0X38 0X33 O0X2E 0X29
0X25 0X20 0X1C 0X18 0X15 0X11 OXOE O0X0B 0X09 0X07 0X05 0X03 0X02

A2,



0X00 0X00 0OX00 0X00 0X00 0X00 0X01 0X02 0X04 0X06 0X08 OXOA 0XOD
0X10 O0X13 0X16 O0X1A OX1E 0X22 0X27 0X2B 0X30 0X35 O0X3A 0X40
0X45 0X4C 0X51 0X57 O0X5D 0X63 0X69 O0X6F 0X76 O0X7C}

/! const
I/ ROM RAM
unsigned char i
unsigned char i
unsigned char n
n2c
void i2cint()
{
SSPCON = 0X08 /i SSPCON
TRISC3=1 Il SCL
TRISC4 =1 Il SDA
TRISA4=0
SSPSTAT=0X80 Il SSPSTAT
SSPADD=0X02 Il 1’C
SSPCON2=0X00 Il SSPCON2
di() Il
SSPIF=0 Il SSP
RA4=0 Il 74HC165 74HC165
I 1°C
SSPEN=1 //SSP
}
n2c
void i2cout()
{
SEN=1 Il 1%C
for(n=0x02 --n ) continue //
do {
RSEN=1 Il 1°’c
}while(SSPIF==0) Il
SSPIF=0 /ISSPIF 0
SSPBUF=0X58 In“c
do {
}while(SSPIF==0) Il
SSPIF=0 /ISSPIF 0
SSPBUF=0X01 In*c
do {
}while(SSPIF==0) Il
SSPIF=0 /ISSPIF 0
SSPBUF=j In*c
do {
}while(SSPIF==0) Il
SSPIF=0 /ISSPIF 0
PEN=1 Il
do {
}while(SSPIF==0) Il

A3.



SSPIF=0 IISSPIF

}
Il
main ()
{
i2cint() In*c
while(1){
for(i=0x00 i<=127 ++i)
{
j=tableli] I
i2cout() /i 1°C
}
}
}
NOTE

4.




3.2.2

#include <pic.h>

#include <math.h>

1l 00.00 95.99 :0.01

unsigned char 0 sl 2 s3

1 0.01 0.1 1 10

unsigned char 4]

unsigned char k data sreg

unsigned int i

const table[10]={OxcO0 Oxf9 Oxad Oxb0 0x99 0x92 O0x82 O0XD8 0x80 0x90}
1

const  table0[10]={0X40 0X79 0X24 0X30 0X19 0X12 0X02 0X78 0X00 0X10}
1l

/ITMRO
void tmint()
{
TOCS=0 IITMRO
PSA=1 IITMRO
TOIF=0 1l TMRO
TOIE=1 /ITMRO
}
IIspi
void SPIINIT()
{
PIR1=0
SSPCON=0x30
SSPSTAT=0xCO
1l SPI SSP "74HC595
/ISCLK "
TRISC=0xD7 //ISDO SCK
TRISA5=0 I/RA5
}
1l
void initial()
{
TRISB1=0
TRISB2=0
TRISB4=1
TRISB5=1 1
RB1=0
RB2=0 1
}
{//SPI
void SPILED(data)
{
SSPBUF=data 1

5.



do {

}while(SSPIF==0)

SSPIF=0
}
1 4
void dispaly()
{
RA5=0 1
for(k=4 k>0 k--)
{
data=g[k-1]
if(k==3) data=tableO[data] //
else data=table[data]
SPILED(data) 1
}
for(k=0 k<4 k++)
{
data=0xFF
SPILED(data) 1 4 DARK
}
RA5=1 1
}
1l
void DELAY()
{
for(i=3553 --i ) continue
}
1l
void KEY SCAN()
{
while(1)}{
while(1)
{
dispaly() 1
if (RB5==0)||(RB4==0))  break
}
DELAY() 1
if (RB5==0)||(RB4==0))  break //
}
}
1
void keyrelax()
{
while(1)Y{
dispaly() 1
if (RB5==1)& & (RB4==1)) break
} 1
}
1l
void inizhi()
{
s0=0x00
§[0]=s0

16.



s1=0x00
g 1]=s1
$2=0x00
[2]=s2
s3=0x00
§3]=s3
sreg=0x00
}
1
void interrupt clkint(void)

{
TMRO0=0X13

TOIF=0
CLRWDT()
sreg=sreg+1
if(sreg==40)
{
sreg=0
0=s0+1
if(s0==10){
s0=0
sl=sl1+1
if(s1==10){
s1=0
2=52+1
if(s2==10){
s2=0

$3=s3+1
if(s3==10)

}
}
s0]=s0
g1]=s1
[2]=s2
§3]=s3
}
1l
main()
{
OPTION=0XFF
tmint()
SPIINIT()
initial()
di()
while(1) {
inizhi()
KEY SCAN()
keyrelax()

/190=s1=s2=53=0
[ltmrO

/I TMRO
I
1 C

1l

I 1

s3=0

/ITMRO
lIspi

Il

Il

1

I
I

A7.

TMRO

SO S1 S2 S3



e() 1
KEY SCAN() 1
keyrelax() 1
di() 1
KEY SCAN() 1 0
keyrelax() I
}
}
NOTE
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4 /

4.1

4.1.1 PIC1

#include <pic.h>

I* */
unsigned char tran[8] I* */
unsigned char k data [* */

const char tablg[20]={0OxcO Oxf9 Oxa4 Oxb0 O0x99 0x92 0x82 0XD8 0x80 0x90
0x88 0x83 0Oxc6 Oxal Ox86 O0x8e Ox7f Oxbf 0x89 Oxff}

I */

[* spi */

void  SPIINIT()

{
PIR1=0

SSPCON=0x30
SSPSTAT=0xCO
I* SPI SSP "74HC595
*SCLK " */
TRISC=0xD7 *SDO SCK */
TRISA5=0 I*RA5 */
}
I* */
void fuzhi()

{
for(k=0 k<8 k++) {

tran[k]=k+3
}
}
/*SCl */
void sciint()
{
SPBRG=0X19 I* 9600 / */
TXSTA=0X04 I* 8 */
RCSTA=0X80 I* */
TRISC6=1
TRISC7=1 * RC6 RC7 */

}
*SPI */
void SPILED(data)

{
SSPBUF=data I* */

do {

}while(SSPIF==0)
SSPIF=0
}
I* 8 */
void display()
{
RA5=0 I* */

19,



for(k=0 k<8 k++) {

data=tran[K]
data=table[data] I* */
SPILED(data) I* */
}
RA5=1 I* */
}
I* */
main()
{
SPIINIT()
fuzhi() I* */
sciint() [*SCl */
di() I* */
TXEN=1 I* */
CREN=1 I* */
for(k=0 k<8 k++){
TXREG=tran[K] I* */
while(1)Y{
if(TXIF==1) break
} [* */
while(1Y{
if(RCIF==1) break /* */
}
RCREG=RCREG I* RCIF*/
}
display() I* */
while(1){
}
}
4.1.2 PI1C2
#include <pic.h>
I* 8
* LED */
unsigned char rece[8] /* */
unsigned  char k data /* */
const char table[20]={OxcO Oxf9 Oxad4 Oxb0 0x99 0x92 0x82 0XD8 0x80

0x90 0x88 0x83 Oxc6 Oxal 0x86 0Ox8e Ox7f Oxbf O0x89 Oxff}
I* */

*spi */

void SPIINIT()

{

}
/*SCl */
void sciint()
{
SPBRG=0X19 I* PIC1 9600 / */
TXSTA=0X04 [* */
RCSTA=0X80 I* */
TRISC6=1

.20.



TRISC7=1 * RC6 RC7 */

}
*SPI */
void SPILED(data)
{
}
I* 4 */
void display()
{
RA5=0 I* */
for(k=0 k<8 k++){
data=receg[K]
data=table[data] I* */
SPILED(data) I* */
}
RA5=1 I* */
}
I* */
main()
{
SPIINIT() I* spi */
sciint() [*SCl */
di() * */
CREN=1 I* */
TXEN=1 I* */
for(k=0 k<8 k++){
while(1)Y{
if(RCIF==1) break
} /* *
recel K|=RCREG I* RCIF*/
TXREG=rece[K] I* */
while(1)y{
if(TXIF==1) break
} /* * [
}
display() I* */
while(1){
}
}
4.2
4.2.1 PIC1
#include <pic.h>
/*
* */
unsigned char tran[8] I* */
unsigned char k data [* */
const char table[20]={ OxcO Oxf9 Oxa4 Oxb0 0x99 0x92 0x82 0XD8 0x80

0x90 0x88 0x83 Oxc6 Oxal O0x86 0Ox8e Ox7f Oxbf O0x89 Oxff}
I* */
[*spi */

21



void  SPIINIT()

{
45
}
I* */
void fuzhi()
{
for(k=0 k<8 k++){
tran[k]=k
} I* 0 7 */
}
/*SCl */
void sciint()
{
SPBRG=200 I* 9600 [/ */
TXSTA=0X90 I* */
RCSTA=0X80 I* */
TRISC6=1
TRISC7=1 * RC6 RC7
}
*SPI */
void SPILED(data)
{
45
}
I* 8 */
void display()
{
RA5=0 I* */
for(k=0 k<8 k++){
data=tran[K]
data=table[data] /* */
SPILED(data) I* */
}
RA5=1 I*
}
I* 8 */
void display1()
{
RA5=0 I* */
for(k=0 k<8 k++){
data=0xf9 I* "1" */
SPILED(data) I* */
}
RA5=1 I*
}
I* */
main()
{
SPIINIT() I*spi */
fuzhi() I* */
sciint() *SCl */
di() I* */

22.



TXEN=1 I* */

displayl() I* */
while(1){
for(k=0 k<8 k++){
TXREG=tran[k] /* */
while(1){
if(TXIF==1) break
} [* */
}
display() I* */
} [* */
}
4.2.2 PI1C2
#include <pic.h>

/*
* 8 LED */

unsigned char rece( 8] [* */
unsigned char k data I* */
unsigned int i

const char table[20]={OxcO Oxf9 Oxad OxbO 0x99 0x92 0x82 0XD8 0x80 0x90
0x88 0x83 0Oxc6 Oxal Ox86 O0x8e Ox7f Oxbf 0x89 Oxff}

I* */
[*spi */
void SPIINIT()
{
45
}
/*SCl */
void sciint()
{
TXSTA=0X10 I* */
RCSTA=0X90 I* */
TRISC6=1
TRISC7=1 * RC6 RC7 */
}
*SPI */
void SPILED(data)
{
I* 45 */
}
I* 4 */
void display()
{
RA5=0 I* */
for(k=0 k<8 k++){
data=receg[K]
data=table[data] I* */
SPILED(data) * */
}
RA5=1 I* */
}
I* */

23.



main()
{
SPIINIT() [* spi
sciint() /*SClI
di() I*
CREN=1 *
for(k=0 k<8 k++) rece[k]=0x03
display() I*
while(1) {
while(1Y{
CREN=1 I*
while(1){
if(RCIF==1) break
} I*
k=0
rece[K]=RCREG /*
if(OERR==1) { /*
CREN=0
CREN=1
}
if (rece[k]==0x00) break /** 0"
}
for(k=1 k<8 k++){
while(1{
if(RCIF==1) break
} I*
rece[k]=RCREG /*
if(OERR==1) { [*
CREN=0
CREN=1
}
rece[k]=rece[k] & OxOF  /*
}
CREN=0
display() I*
for(i=65535 --i  )continue
for(i=65535 --i  )continue /*

}

4.3 PC

4.3.1 PC
PC Toubr C
#include<stdio.h>
#define port 0x3f8 [*
int ch[15]
main ()
{ .
Inta
intij
inth[6]={88 15 38 26 20 O}
char ¢

*/
*/

*/
*/

*/

*/

*/

*/
*/

24
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clrscr()
outportb(port+3  0x80) [* */
outportb(port 0x0C) [* 9600bps*/

outportb(port+1 0x00)
outportb(port+3  0x03) /*8
outportb(port+1 0x00) [*
inportb(port+5) I*
for(;;{

*/

printf("\t\tsend data or receive data: (s or r?)\n\n\n")

c=getchar()
switch(c) {
case's:
case'S: {
while(! (inportb(port+5)& 0x20))  /*
outportb(port  0x01) I*
for(i=0 i<6 i++){ I*
a=h[i]

while(! (inportb(port+5)& 0x20)) delay(100) /*

outportb(port  a) I*
printf("%d\n"  a) I*
while(! (inport(port+5)& 1)) I*
ch[i]=inport(port) I*
}
delay(10)
for(j=0 j<8 j++) printf("\n%d\n"
getch()
break
}
caser": I*
case'R'{
while(! (inportb(port+5)& 0x20))
outportb(port  0x02) I*
for(j=0 j<9 j++){ I*
while(! (inportb(port+5)& 1))
ch[j]=inportb(port)
}
for(j=0 j<9 j++) printf("\n %d\n"
getch()
break

}

6

a*/
ax/

*/

chjl) /*

chj])

*/

02

01
*/

*/

*/

*/

*/

*/

*/

*/

*/

*/

NOTE
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PIC16F87X

//
#include
#include
#include
//
#define READ
#define WRITE
#define RESET
#define RTS 0x80
#define STA2510 OxAO
#define BITMOD 0x05
int a[12];

int b[8];

int c[8];

int i;

int count;

int countl=0;

int ReclD_H=0;

int ReclD_L=0;

int DLC=8;

void SPIINTQ);

void TMRLIINT(Q);

void CCPL1INTQ);

void
void
void
int
void
void
int
void
void
void
void
int
void
void
void
void

<pic.h>
<picl6f87x.h>
<mcp256.h>

0x03
0x02
0xCO

WAIT_SP1Q);
RESET2510();

RTS2510(int RTSN);
GETS2510();

SETNORMALQ) ;

TXMSG(int DLC);
RXMSGQ);
INIT2510();
INIT877();
INITSPI();

main(void)

{

int 1,detect=0;
SSPIE=1;
TMR11E=1;

SPIEXCHANGE(int count);

TXCOMPLETE(int adress);

CAN

// MCP2510

//  MCP2510

//  MCP2510
// MCP2510
// MCP2510
//  MCP2510
// MCP2510

// SPI1

//

//

//

//

// for test

RD2510(int adress,int n);
WR2510(int adress,int n);

BM2510(int adress, int mask, int data);
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CCP1IE=1;

CCP2IE=1;

PEIE=1;

ei(); //

INIT877(); // PIC16F877
INITSP1(); // SPI
INIT2510Q); // MCP2510
flagl=0;

flag2=0;

CCP1CON=0x05;
CCP2CON=0x04;

while(l) {
RXMSGQ) ;
TXMSG(8);
}
}
[/ ======== =======
// SPI
void SPIINTQ)
{
SSPIF=0;
a[ i++]=SSPBUF; // all
count-=1;
if(count>0) SSPBUF=a[i];//
else RE2=1; //
return;
}
// TMR1
void TMRLIINT()
{
TMR1IF=0;
T1CON=0;
if(1flagl){
TMR1H=0xfe; // 512 p s
TMR1L=0x00;
T1CON=0x01;
PORTD=0xff; //
flagl=1;
}
else {
flagl=0;
PORTD=0;
T1CON=0;
}
return;
}
// CCP1
void CCP1INT()
{
CCP11F=0;
T1CON=0x01;
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return;

}
// CCP2
void CCP2INT()
{
CCP21F=0;
T1CON=0x01;
return;
}
//
void interrupt INTS()
{
diQ);
if(TMRLIF) TMRLINTQ; // TMR1
else 1F(CCP1IF) CCP1INT(); // 1
else iF(CCP2IF) CCP2INT(); // 2
else iT(SSPIF) SPIINTQ); // SPI
eiQ);
}
[/ ======== =======
// SP1
void SPIEXCHANGE(count)
int count;
{
if(count>0) { //
i=0;
RE2=0; //
SSPBUF=a[i]; //
}
else
; //
return;
}
// SP1
void WAIT_SPI()
{
do{
Ywhile(count>0); //  count!=0 to add "CLRWDT"
return;
}
//  MCP2510
void RESET2510(0)
{
a[0]=RESET;
count=1;
SPIEXCHANGE (count) ; //
WAIT_SP1(Q);
return;
}
// "adress" n b[n]
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{

}

//

int RD2510(adress,n)
int adress;
int n;

int j;

a[0]=READ;

a[1]=adress;
for(J=0;j<n;j++) a[j+2]=0;
count=n+2;

SPIEXCHANGE (count) ;
WAIT_SP1();
for(J=0;j<n;j++) b[jl=a[j+2]1;//
return;

//

"adress"

void WR2510(adress,n)

{

}

int
int

adress;
n;

int j;

a[O]=WRITE;

a[1]=adress;

for(j=0;j<n;j++) a[j+2]=b[il;
count=n+2; //
SPIEXCHANGE (count) ;
WAIT_SP1();

return;

// MCP2510

{

}

//

void RTS2510(RTSn)
int RTSn;

a[0]=RTS"RTSn;
count=1;
SPIEXCHANGE (count);
WAIT_SPI1();

return;

//

MCP2510
int GETS2510()

{

a[0]=STA2510;
a[1]=0;

count=2;
SPIEXCHANGE (count);
WAIT_SP1();
b[0]=a[1];

return;

//

//

}

//

MCP2510
void BM2510(adress,mask,data)

n
b[]
n b[n]
n
MCP2510
MCP2510
b[]
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int adress;
int mask;
int data;
{
a[0]=BITMOD; //
a[l]=adress; //
a[2]=mask; //
a[3]=data; //
count=4;
SPIEXCHANGE (count) ;
WAIT_SP1();
return;
}
// MCP2510
void SETNORMAL(Q)
{
int k=1;
BM2510(CANCTRL,,0xe0,0x00); //
do {
RD2510(CANSTAT,1);
k=b[0]&0xe0;
Jwhile(k); //
return;
}
//  NCP2510
void INIT25100)
{
RESET2510(); //
b[0]=0x02;
b[1]=0x90;
b[2]=0x07;
WR2510(CNF3,3); // 125 kbps
b[0]=0x00;
b[1]=0x00;
WR2510(RXMOSIDH, 2);
b[0]=0x00;
b[1]=0x00;
WR2510(RXFOSIDH,2); // RX0
b[0]=0x00;
WR2510(CANINTE,1); // CAN
SETNORMALQ) ; //
return;
}
// NCP2510 adress
void TXCOMPLETE(adress)
int adress;
{
int k=1;
do {
RD2510(adress,1);
k=b[0]&0x08;
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}

//

Yuhile(k); //
return;

PIC16F877

void INIT877()

{

}

//

PORTA=0;
PORTB=0;
PORTC=0;
PORTD=0;
PORTE=0;
TRISA=0xfT;
TRISB=0xfd;

TRISC=0xd7; // SCK, SDO: ,oDI:

TRISD=0;

TRISE=0x03; // CS
PORTA=0xfT;

PORTB=0x03; // RST=1
PORTC=0;

PORTD=0xff;

PORTE=0x04;

return;

SPI

void INITSPI()

{

}

//
void TXMSG(int DLC)

{

}

//
int RXMSG()

{

SSPCON=0x11;

SSPEN=1; // SSP
SSPSTAT=0;

return;

for(i=0;i<DLC;i++) b[i]=c[i];
WR2510(TXB0ODO,DLC);

b[0]=DLC;

WR2510(TXBODLC,1);

b[0]=0x03;

b[1]=ReclD_H;

b[2]=ReclD_L;

WR2510(TXBOCTRL, 3);

RTS2510(0x01); //
TXCOMPLETE(TXBOCTRL); //
return;

int k;
RD2510(CANINTF,1);

31
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k=b[0]&0x01;

if(k==1) {
BM2510(CANINTF,0x01,0x00);
RD2510(RXBOSIDH,2);
ReclD_H=b[0];
ReclID_L=b[1]&0xe0;

RD2510(RXBODLC,1);
DLC=b[0]&0x0F;
RD2510(RXB0ODO,DLC);
for(i=0;i<DLC;i++) c[i]=b[i];
return 1;
}
return O;
}
NOTE
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6 CCP

6.1

6.1.1

#include <pic.h>

#include <stdio.h>

#include <math.h>

1l CCP1 “ "

const char table[11]={0xcO Oxf9 Oxa4 Oxb0 0x99 0x92 0x82 O0XD8 0x80 0x90
OxFF}

I

const char table0[11]={0X40 0X79 0X24 0X30 0X19 0X12 0X02 0X78 0X00
0X10 OxFF}

I

bank3 int cplz[11] 1l
union  cpl
{int yl
unsigned char  cple2]
}cplu /1

unsigned char COUNTW COUNT //
unsigned char COUNTER data k
unsigned char FLAG @ OXEF

#define FLAGIT(adr bit) ((unsigned)(&adr)*8+(bit)) //
static  bit FLAG1 @ FLAGIT(FLAG 0)
static  bitFLAG2 @ FLAGIT(FLAG 1)
static  bitFLAG3 @ FLAGIT(FLAG 2)
unsigned char g4] 1

int T5 uo

double RE5

double puad5

IIspi

void SPIINIT()

{
PIR1=0

SSPCON=0x30

SSPSTAT=0xCO
1l SPI SSP "74HC595
//SCLk "

TRISC=0xD7 //SDO SCK

TRISA5=0 I/IRAS5

FLAG1=0

FLAG2=0

FLAG3=0

COUNTER=0X01

}
/icCP

void ccpint()

CCP1CON=0X05 1 CCP1
T1CON=0X00 1l TMR1
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PEIE=1 I ( )

CCP1IE=1 1 CCP1
TRISC2=1 1l RC2
}
1
voidinitial()
{
COUNT=0X0B 1l 5
I
1l 11
TRISB1=0
TRISB2=0
TRISB4=1
TRISB5=1 1l
RB1=0
RB2=0 1
}
/ISP
void SPILED(data)
{
SSPBUF=data 1l
do {
}while(SSPIF==0)
SSPIF=0
}
1 4
void display()
{
RA5=0 1l
for(COUNTW=0 COUNTW<4 COUNTW++){
data=g[ COUNTW]
data=data& OxOF

if(COUNTW==k) data=tableO[data] //
else data=table[datd]

SPILED(data) 1
}
for(COUNTW=0 COUNTW<4 COUNTW++){
data=0xFF
SPILED(data) 1l 4 DARK
}
RA5=1 1
}
1l
void keyscan( )
{
if((RB4==0)||(RB5==0))FLAG1=1 I FLAG1
else FLAG1=0 1 FLAG1

}
I

void keyserve()

{
PORTB=0XFD



if(RB5==0) data=0X01

if(RB4==0) data=0X03

PORTB=0XFB

if(RB5==0) data=0X02

if(RB4==0) data=0X04

PORTB=0X00

if(data==0x01)  {
COUNTER=COUNTER+1

if(COUNTER>4) COUNTER=0x01 //

}
if(data==0x02)  {
COUNTER=COUNTER-1

if(COUNTER<1) COUNTER=0x04 //

}
if(data==0x03) FLAG2=1
if (data==0x04) FLAG2=0
}
1l
void interruptcplint(void)
{
CCP1IF=0
cplu.cple[0]=CCPRI1L
cplu.cple1]=CCPR1H
cplz[data]=cplu.yl
CCP1CON=CCP1CON"0X01
datat++
COUNT--
}
1l
void PERIOD()
{
T5=cplz[10]-cplz[ O]
RE5=(double)T5
RE5=RE5/5
}
1l
void FREQUENCY ()
{
PERIOD( )
RE5=1000000/RE5
}
1l
void PULSE()
{ .
int pu
for(data=0 puad5=0 data<=9
pu=cplz[datat+1]-cplz[data]
puad5=(doubl e)pu+puad5
data=data+2
}
RES5=puad5/5
}

1l

Il PORTB
1 39 COUNTER 1
COUNTER 4 1

I S11 COUNTER 1
COUNTER 1 4
/ S10 FLAG2
1 S12 FLAG2

1

1 1

/I CCP1

1 5

1

I VIS

1

1 1 000 000

I HZ

datat++) {

1l 5
1l
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Il
void ~ OCCUPATIONAL()

{
PULSE() 1l
puad5=RE5 i
PERIOD() i
RE5=puad5/RE5 I
}
i
main( )
{
SPIINIT() /ISPl
while(1) {
cepint() /ICCP
initial() i
if(FLAG2==0) {
g0]=COUNTER i COUNTER
g 1]=0X0A
g2]=0X0A
g 3]=0X0A i LED "DARK"
}
display() 1l
keyscan() /!
data=0x00 /
TMR1H=0
TMRI1L=0 1 1 0
CCP1IF=0 i CCP1
Il
ei() 1l
TMR10ON=1 1 1
while(1){
if(COUNT==0)break
} 1
di() I/
TMR10ON=0 I
keyscan() /1
if(FLAG1==1) keyserve() 1

if(FLAG2==0) continue I
I
1
if(COUNTER==0x01) FREQUENCY () /ICOUNTER=1

if(COUNTER==0x02) PERIOD() [ICOUNTER=2
if(COUNTER==0x03) OCCUPATIONAL() //COUNTER=3
if(COUNTER==0x04) PUL SE() //ICOUNTER=4
k=5
if(RE5<1){
RE5=RE5*1000 /I RE5<1 1000
k=0x00
}
else if(RE5<10){
RE5=RE5*1000 /I RE5<10 1000
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k=0x00

}
else if(RE5<100){

RE5=RE5*100 /I RE5<100 100
k=0x01
}
else if(RE5<1000){
RE5=RE5*10 /I RE5<1000 10
k=0x02
}
else RE5=RE5
uo=(int)RE5
sprintf(s  "%4d" uo) I 4 AS
I s
display()
}
}
NOTE
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7.1.1

A/D
#include
#include
#include
1
J7A1
Il
union

{

<pic.h>
<math.h>
<stdio.h>

adres

int yl

unsigned char adre[2]
}adresult I
bank3 int ref40] I
unsigned char k data
double sgu  squad

1

int uo
bank1
const
0x90}
1
const
ox10}y /I
/IAID
void

{

unsigned char
char

4]

char

adinitial()

ADCONO=0x41 I
I
ADCON1=0X8E I
I
ADIE=1
PEIE=1
TRISAO=1 I
}
IIspi
void

{

SPIINIT()

PIR1=0
SSPCON=0x30
SSPSTAT=0xCO
1l SPI
//ISCLK
TRISC=0xD7
TRISA5=0

SSP

//ISDO
[IRAS5

4 LED

PICC double 32

A/D bank3

"
1 squ

I ASlI

A/D RAO A/D
A/D 8Tosc
ADRESH 6

RAO

IIAID

1l

"74HC595
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void initial ()

{
CCP2IE=0 1 CCP
SSPIE=0 1 SSP
CCP2CON=0X0B 1 CCP2CON CCP2
CCPR2H=0X01
CCPR2L=0XF4 1 CCPR2
1 40
}
1l
void interrupt adint(void)
{
CCP2IF=0
ADIF=0 1
adresult.adre] O]=ADRESL
adresult.adre[1]=ADRESH // A/D A/D
I yl
re[k]=adresult.y1 /11 A/D
k++ I 1
}
{//SPI
void SPILED(data)
{
SSPBUF=data 1
dof
}while(SSPIF==0)
SSPIF=0
}
1
main( )
{
adinitial () I/A/D
SPIINIT() IIspi
initial() 1
while(1){
k=0 1
TMR1H=0X00
TMR1L=0X00 1 1 0
ei() 1
T1CON=0X01 1 1
while(1)Y{
if(k==40)break  //A/D 40
}
di() 1
for(k=0 k<40 k++)refk]=re[k]-0X199 // 2V

for(k=0 sguad=0 k<40 k++) {

uo=refK]
squ=(double)uo
squ=squ*5/1023
SqU=squ* squ

I

I
I

1l
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squad=squad+squ
}
squ=squad/40
squ=sqrt(squ)
squ=squ* 154.054

squ=squ* 10
uo=(int)squ
sprintf(s  "%4d" uo)

RA5=0

for(k=0 k<4 k++)f
data=g[K]
data=data8 OX OF

1
I
1

1l
1
I
1

1l
IIASI]
I

I

if(k==2) data=tableO[data] //
else data=table[datd]

SPILED(data)

}
for(k=0 k<4 k++)

data=0xFF
SPILED(data)

}
RA5=1

}

1l
1l

1l

// table0
/table
I

4

40

u
sprintf

squ

DARK
LED

ASlI
10

BCD

squad

10

NOTE
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8 PLC 4 LED

8.1

8.2

#include <picl6F87x.h>

#include "mydefine.h"

#include <pic.h>

static int flag,flag0,flagl,flag3,led d;
static int datal[5],data2[5];

static int data,data0,data_1,data 2,sdata;

//

//

void initport( )

{
PORTA=0;
PORTB=0;
PORTC=0;
PORTD=0;
ADCON1=0x07;
TRISA=0x03; // RAO,RAL
TRISB=0xE8; // RBO,RB1,RB2,RB4
TRISC=0xFF; // C
TRISD=0; // D

}

//

int adr_jud(int x)

{

int adress,y;
adress=PORTA&O0x03;
x&=0x60;
adress=adress<<5;
if (adress==x) y=1;
else y=0;
CLRWDTQ);
return(y);
}
//
void initdis( )
{
PORTB=0xFE; // 1
PORTD=0xCO;
PORTB=0xFD; // 2
PORTD=0xCO;
PORTB=0xFB; // 3
PORTD&=0x7F; //
PORTD=0xCO;
PORTB=0xEF; // 4
PORTD=0xCO;

A1,



3
// 5 4

int judge(arry)
int arry[5];
{
int i,j,k;
for(i=0;i<=4;i++){
k=0;
for(j=0;j<=4;j++)
{ if(arry[i]==arry[j])
if(k>=4) {
flagl=1;
dataO=arry[i];
return(flagl);
}
else flagl=0;
}
}
return(flagl);
}
//
int convert(int di,int d2)
{
auto int ddl,dd2;
int i1,j1,k1,i2,j2,m;
ddi=d1;
dd2=d2;
J1=0x10;
k1=2048;
d1=0;
for(il=1;il<=5;il++) {
if(J1==(dd1&j1)) m=1;
else m=0;
d1=d1+m*k1;
J1=j1/2;
kl=k1/2;
}
J2=0x40;
d2=0;
for(i2=1;i12<=7;i12++) {
if(j2==(dd2&j2)) m=1;
else m=0;
d2=d2+m*k1;
§2=j2/2;
kl=k1/2;
}
data=d1+d2;
return(data);
}
//
int display(int x)

k++;
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}

//

int 11,12,13,14;
11=x/1000;

PORTB=0xFE; //
PORTD=led[11];
12=(x-11*1000)/100;
PORTB=0xFD; //
PORTD=led[12];
13=(x-11*1000-12*100)/10;
PORTB=0xFB; //
PORTD=0x7F;

PORTD=led[13];
14=x-11*1000-12*100-13*10;
PORTB=0xEF; //
PORTD=led[14];

void interrupt int_serve( )

{

}

//

PIR1=0;
TMR1L=0xE5;
TMR1H=0xBE;

di( );
sdata=PORTC&0x80;
ei( );

void int_open( )

{

}
//

inportc=PORTC&0x80;
if(inportc==1) return;
else datal[0]=~PORTC;
flag=adr_jud(datal[0]);
if(flag==0) return; //
else datal[1]=~PORTC;
datal[2]=~PORTC;
if(datal[0]==datal[1])
if(datal[0]==datal[2]) {
flag3=1;
PIR1=0; //
TMR1IE=1; //TMR1
PEIE=1;
ei( );
TMR1L=0xE5;
TMR1H=0xBE; //20ms
T1CON=0x01; //  TMR1
}

else return;

1

voidread 1( )

{

int jo;

1
1



¥
//

for(jo=1;j0<=4;j0++) datal[j0]=~PORTC;
flagl=judge(datal);
if (flagl==1) {
data_l=data0;
flag0=1;
countl++;
}
flag=adr_jud(datal[0]);
if(flag==1) {
for(J0=1;j0<=4;j0++) datal[j0]=~PORTC;
flagl=judge(datal);
if (flagl==1){
data_l=dataO;
flag0=1;
countl++;

main( )

{

int 10,i1,i;

flag0=0; //

flagl=0; // 5 4

flag3=1; //

countl1=0; // 1

count2=0; // 2

data_1=0;

data 2=0;

led d=0;

led[0]=0xc0; //0

led[1]=0xf9;

led[2]=0xa4;

led[3]=0xb0;

led[4]=0x99;

led[5]=0x92;

led[6]=0x82;

led[7]=0xf8;

led[8]=0x80;

1ed[9]=0x90; //9

initport( );

OPTION=0xFE; //

initdis( );

while(1) {

if(flag3==0) int_open();
else{
if(sdata==0x80){ //
if(flag0==1){
for(i0=0;i0<=4;i0++) data2[i0]=~PORTC;
flagl=judge(data2);
if (flagl==1) {
data_2=data0;



flag0=0;
count2++;

}
}
else if(sdata==0) { //
if(flag0==0) {
datal[0]=~PORTC;
flag=adr_jud(datal[0]);
if(flag==1) {
for(joO=1;j0<=4;jO++) datal[j0]=~PORTC;
flagl=judge(datal);
if (flagl==1) {
data_l=data0;
flag0=1;
countl++;

}

}
CLRWDT();
if(countl==count2) led_d=convert(data 1,data 2 );

}
display(led_d);

NOTE

A45.



9

PWM

9.1 C
#include <pic.h>
// zh
// ccp CCP1
// CCP2 AD TMR2 TMR1 INT RB
// 6 1/0
#define AND 0Oxe0 // 5 6 7
#define CURA 0XOa //
#define CURB 0X09 //
#define THL 0X6400 //
#define FULLDUTY OXOFF // 1
#define SPEA 0X1d //
#define SPEB 0Xlc //
#define GCURHILO 0X0330 //
#define GCURH 0X33 //
#define GSPEH 0X67 //
#define TSON 0X38 // 1.1V TSON*2
//2.2 V
#define VOLON OX4c // 3.0V 33V
#define VOLOFF 0X49 // 2.86 V 315V

volatile unsigned char DELAYH,DELAYL,oldstate,speed,
speedcount, tsh,count_ts,count_vol,gcur,currenth,
voltage; //
static bit spl,spe,ts,volflag,spepid, lowpower,
off,shutdown, curpid; //
static volatile unsigned char new[10]={Oxaf,0xbe,0xff,0x7e,0xcf,
Oxff,0xd7,0x77,0xFf,OxFf}; //

7 —— PICI6F877  —mmmmmmeeeo
void INIT877()
{

PORTC=0XOFF; // MOSFET

TRISC=0X02; /lC

PI1E1=0X00; /!

TRISA=OXCF; //  RA4,RA5

TRISB=OXEF; //RB

PORTC=new[ (PORTB&AND)>>5]; //

// NS

T2CON=0X01; //TVR2 4

CCPR1L=0XOFF; // PUM

CCP1CON=0XOFF; //CcP1 PUM

CCP2CON=0XO0B; //CCP2 AD

ADCONO=0X81; //AD 32, A, ANO

//

TMR2=0X00; //TNR2

TMR1H=0X00; //TNRL

TMR1L=0X00;

T1CON=0X00; //TRL 1
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CCPR2H=0X08;

CCPR2L=0X00; //
PR2=0XC7; //PWM
ADCON1=0X02; //AD
OPTION=0XFB; //INT
TMR20N=1; //PWM
INTCON=0XD8; //
ADIE=1; //AD
speedcount=0x00; //
speed=0x7f; //
spe=1; //
spl=1; //
oldstate=0x0fT; //
count_ts=0x08; //
count_vol=0x00; // 256
ts=1; //
ADGO=1; //AD
TMRION=1; //CCP2

}

[/-——————m=—= o

#pragma interrupt_level 1
void DELAY1(x)

char x;
{
DELAYH=x; //
#asm
DELAY2 MOVLW  0X06
MOVWF  _DELAYL
DELAY1 DECFSZ _DELAYL
GOTO DELAY1
DECFSZ _DELAYH
GOTO DELAY2
#endasm
}
//-————oo—
void sample()
{
char statel,state2,state3,x;
do {
X=1;
statel=(PORTB&AND); //
DELAY1(X);
state2=(PORTB&AND) ;
Jwhile(statel-state?); //
if(statel-oldstate!=0) //
//
{oldstate=statel; //
statel=(oldstate>>5);
PORTC=new[statel];
if(spl==1){spe=1;sp1=0;}
else { //

Tw=512 p s
5 kHz

GIE=1,PEIE=1,RBIE=1

//C
spe 1

AT,
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spe=0;spl=0;
speedcount<<=1;

state3=(TMR1H>>2); // spe=0,
speed=speedcount+state3; //speed 256 ps 1
}
speedcount=0;
}
}
/)= AD e
void AD(Q)
{
char x;
ADIF=0; //  AD
if(ts==1){ //
CHSO0=1; //
count_vol=count_vol+1; //
spepid=1; //
ts=0; tsh=ADRESH; //
if(count vol==0) { // AN2
CHS0=0;CHS1=1;volflag=1;x=1;DELAY1(X) ;ADGO=1;
}
}
else if(volflag==1) { //
CHS1=0;CHS0=1;volflag=0;voltage=ADRESH; lowpower=1;
}
else { //
speedcount=speedcount+l; //speedcount 1
if(speedcount>0x3d) spl=1; // 1 000 000 p s/(512 p s*3eh*3)
//
currenth=ADRESH;
curpid=1;
count_ts=count_ts-1;
if(count_ts==0) { //
CHS0=0;count_ts=0x08;ts=1;x=1;DELAY1(X);ADGO=1;
}
}
}
/)=
void BREAKON(Q)
{
char x;
off=0; //off
shutdown=0;
if(RBO==1) { //
ADIE=0; // AD
INTE=0; //
CCPR1L=FULLDUTY; // 0
TMR1ON=0; //  CCP2 AD
for(;ADGO==1;) continue;//
ADIF=0; //ADIF
CHS0=0; // 0



CHS1=0;

x=1;

DELAY1(X);

do {
ADGO=1;
for(;ADIF==0;)continue;
ADIF=0;
CCPR1L=FULLDUTY;

asm(*'CLRWDT™);
tsh=(ADRESH>>1);

Jwhile(tsh>TSON| |RBO==1); // 2.2V

//
off=1; //

void POWER(Q)

{

char x;
lowpower=0;
voltage>>=1; // 7
if(voltage<VOLOFF) { // 3*k(V)
ADIE=0;
INTE=0;
TMR1ON=0;
CCPR1L=FULLDUTY;
for(;ADGO==1;)continue;
ADIF=0;
CHS0=0;CHS1=1;
X=1;
DELAY1(X);
do{ADGO=1;
for(;ADIF==0;)continue;
ADIF=0;
voltage=(ADRESH>>1);
CCPR1L=FULLDUTY;
asm("'CLRWDT");
Ywhile(voltage<VOLON); // K
off=1; //

void CURPI()

{

static int curep=0x00,curek=0x00,curuk=0x00;
union data{int pwnm;

char a[2];}b; //
curpid=0; //
curep=curek*CURB; //

if(currenth<2)currenth=2; //
//

currenth>>=1;
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curek=gcur-currenth; //

curuk=curuk+curek*CURA-curep; // Pl
//
if(curuk<0x00) { //
curuk=0;CCPR1L=FULLDUTY;CCP1X=0;CCP1Y=0;
}

else if(curuk-THL>=0) { //
curuk=THL ; CCPR1L=0;CCP1X=0;CCP1Y=0;

}

else { //
b.pwm=THL-curuk;
b.pwm<<=1;

CCPR1L=b.a[1]; //CCPR1L=(b.pwm>>8)&0x0ff;
if(b.pwm&0x801=0) CCP1X=1;

else CCP1X=0;

if(b.pwm&0x401=0) CCP1Y=1;

else CCP1Y=0;

void SPEPI()

{ static int speep=0x00,speek=0x00,speuk=0x00;
int tshl,speedl; //
spepid=0; //
if(spe==1) speedl=0x00; //
else speedl=0x7f-speed; //
if(speedl<0) speedl=0;
speep=speek*SPEB;
tsh1l=tsh-0x38; //
speek=tshl-speedl;
if(tsh1<0) {speuk=0;gcur=0;} // 1.1V
else { //
i f(tsh1>=GSPEH) //
tsh1=GSPEH;
speuk=speuk+speek*SPEA-speep; //
i T(speuk<=0X00) {speuk=0x00;gcur=0x00;}//
else 1f(speuk>GCURHILO) { //
speuk=GCURHILO;gcur=GCURH;}
else { //
gcur=(speuk>>4)&0x0ff;
}
}
}
/-
main()
{
for(G;){
INIT877(); //
off=0; //
for(;off==0;) { //

if(curpid==1) CURPI(); // Pl
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else if(spepid==1) SPEPI(); // Pl
else if(lowpower==1) POWERQ);

else if(shutdown==1) BREAKON(Q) ;
asm(""CLRWDT™);

#pragma interrupt_level 1
void interrupt INTS(void)

{

if(RBIF==1) {RBIF=0;sample();}

else if(ADIF==1) ADQ);

else if(INTF==1) {shutdown=1; INTF=0;} //
}
NOTE
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10.1 MG-12232

E2

7.1
71 El=1 E2=0
unsigned char TRANS
unsigned char PAGEADD
unsigned char PAGENUM
unsigned char CLMSUM
unsigned char CLMADD
unsigned char WRITE
unsigned char row
unsigned char i k
1l
void INITIAL()
{
ADCON1=0X87
TRISA3=0
TRISB0O=0
TRISE=0X00
}
1
void LCDSTA1()
while(1) {
TRISD=0XFF
RB0=1
RA3=0
REO=1
RE1=0
if(RD7==0) break
}
}
1
void TRANSL()
{
LCDSTAL()
TRISD=0X00
RBO=1
RA3=0
REO=0
RE1=0
PORTD=TRANS
RB0=0
REO=1
}
1
void WRITEL()
{
TRANS=CLMADD

El E2
71 E1=0 E2=1

1
1
I

1
1
I

I PORTA PORTE

1 4

I D
/[E1=1
1IE2=0
IIRIW=1
IIA0=0

TRANS )

1
/I D
//E1=1
I/E2=0
IIRIW=0
ITA0=0
1l
//E1=0
IIRIW=1

WRITE

1

52.
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TRANSL()

LCDSTAL() I
TRISD=0X00 /ID
RBO=1 //E1=1
RA3=0 //E2=0
RE0=0 //R/W=0
RE1=1 //AO=1
PORTD=WRITE I D
RB0=0 /IE1=0
CLMADD++ I 1
REO=1 /IRIW=1
}
Il E1
void DISPL()
\{Nhile(l)
{
TRANS=0XAF
TRANSL() I
LCDSTAL() I
TRISD=0XFF I D
RBO=1 /IE1=1
RA3=0 /IE2=0
REO=1 /IRIW=1
RE1=0 /IA0=0
if(RD5==0) bresk I
}
}
JIEL
void CLEARL()
{
PAGEADD=0xB8 I
for(PAGENUM=0X04 PAGENUM>0 PAGENUM--){
TRANS=PAGEADD
TRANSL()
CLMADD=0x00 Il
for(CLMSUM=0X50 CLMSUM>0 CLMSUM--){
LCDSTAL() Il
WRITE=0X00
WRITEL() /' OOH
}
PAGEADD++ Il 1
}
}
I El
void  DISOFFL()
while(1)
{
TRANS=0XAE
TRANSL() I
LCDSTAL() I
TRISD=0XFF /ID
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/E1

void

{

10.

NS

#include

I
1
1l

unsigned
unsigned
unsigned
unsigned
unsigned
unsigned
unsigned
unsigned
const char

RBO=1
RA3=0
REO=1
RE1=0

if(RD5==1) bresk

-ADC

—

led1()

DISOFFL()
TRANS=0XA4
TRANSL()
TRANS=0XA9
TRANSL()
TRANS=0XE2
TRANSL()
TRANS=0XA0
TRANSL()
CLEARL()
LCDSTAL()
DISPL()

2

<pic.h>

char
char
char
char
char
char
char
char i

0X48
0X00
0X42
0X00
OXFE
0X40
OX7F

0X48
0X07
0X42
0X00
0X82
0X30
0X40

0X48
0X02
0X42
OXFE
0X82
OXOF
0X42

—

TRANS
PAGEADD
PAGENUM
CLMSUM
CLMADD
WRITE
row

k
table[192]={0X00 OXF8 0X48 0X48 0X48 0X48 OXFF 0X48

//E1=1
I/E2=0
IIRIW=1
I/A0=0

1l El
1
1
I
1
1

I

132

/IADC

1
1
I
1

I
1l
1l
I
1l
1l
1l

OXFC 0X08 0X00

0X02
0X47
0X02
0X82
0X40
0X44

0X02 0X02
0X40 0X70
0X82 0X82
0XC3 0X82
0X40 0X40
0X4C 0X60

54

0X00 0X00
OX3F 0X42
0X00 0X00 /1"
0X82 0X82
0X00 0X00
0X40 0X40
0X40 0X00 /1"



0X04
0X24
0X4

0X9

0X88
0X20
0X40
0X80
0X80

0X04
0X24
0X2

0X49
0X48
0XDO
0X20
0X41
0X40

0X04
0X24
0X1
0X89
0XB8
OX1F
0X18
0X36
0X20

0X84 OXE4 O0X3C 0X27 0X24
OXF4 0X24 0X06 0X04 0X00
0X0 OXFF 0X9 0X9 0X9

OX7F 0OXO0 O0X0 0X0 0XO0 "
0X9 OXA 0X98 0X2C 0X48
0X10 O0X10 OXF8 0X10 O0XO
0X5 0X2 OXD 0X30 0X80

0X8 0X37 0OXCO 0Xx40 oOxo0 /I
OXF8 0X7 0X4 OXE4 O0XA4

0XA4 OXBF O0XA4 O0XA4 OXF6 0X24 0X0 O0XO
0X0 0X0 0X0 OXFF 0X40 0X40 OX7F O0OX4A

0X4A OX4A O0X4A OX4A OX7F 0X40 0X40 OXO0 /"
0X10 0X22 0X64 OXC O0X80 0X44 0X44 0Xo64
0X55 OX4E 0X44 0X54 0X66 0XC4 0XO0 O0OXO0

0X4 0X4 OXFE O0X1 0XO 0X80 0X40 OX3F

0X0 OXFF 0XO0 OX3F 0X40 0X40 0X70 O0XO A

}
I

void  INITIAL()

{

ADCON1=0X87
TRISA3=0
TRISB0=0
TRISE=0X00

}
I

void  LCDSTAL()

{whi le(1){
TRISD=0XFF
RBO=1
RA3=0
REO=1
RE1=0
if(RD7==0) bresk

}

}
I

void  TRANSL()

{

LCDSTAL()
TRISD=0X00

RBO=1
RA3=0
REO=0
RE1=0

PORTD=TRANS

RB0=0
REO=1

}
I

void  WRITEL()

1 PORTA PORTE 110

1 4

1l D
/[E1=1
I/E2=0
IIRIW=1
//A0=0
I

TRANS )

1l
/ID
/[E1=1
I/E2=0
IIRIW=0
/IA0=0
1
I/E1=0
IIRIW=1

WRITE
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TRANS=CLMADD /I

TRANSL()
LCDSTAL() I
TRISD=0X00 /ID
RBO=1 JIE1=1
RA3=0 JIE2=0
REO=0 JIRIW=0
RE1=1 /IA0=1
PORTD=WRITE I D
RB0=0 JIE1=0
CLMADD++ I 1
REO=1 JIRIW=1

}

Il El

void  DISPL()

{ while(1) {
TRANS=0XAF
TRANSL() Il
LCDSTAL() Il
TRISD=0XFF I D
RBO=1 /E1=1
RA3=0 IIE2=0
REO=1 JIRIW=1
RE1=0 /IA0=0
if(RD5==0) break Il
}

}

JIE1

void  CLEARL()

{
PAGEADD=0xB8 I

for(PAGENUM=0X04 PAGENUM>0 PAGENUM--){
TRANS=PAGEADD
TRANSL()
CLMADD=0x00 I
for(CLMSUM=0X50 CLMSUM>0 CLMSUM--){
LCDSTAL() I
WRITE=0X00
WRITEL() /I OOH

}
PAGEADD++ I 1

}

}
Il El

void  DISOFFL()

{
while() {
TRANS=0XAE
TRANSL() I

LCDSTAL() I
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TRISD=0XFF

RBO=1

RA3=0

REO=1

RE1=0

if(RD5==1)

}

}
/IE1
void

{

break

lcd1()

DISOFF1()
TRANS=0XA4
TRANSL()
TRANS=0XA9
TRANSL()
TRANS=0XE2
TRANSL()
TRANS=0XA0
TRANSL()
CLEARL()
LCDSTAL()
DISPL()

}
/IE2
/I
void

{

LCDSTA2()

while(1) {
TRISD=0XFF
RB0=0
RA3=1
REO=1
RE1=0
if(RD7==0)

}

}
I

void

{

break

TRANS2()

LCDSTA2()
TRISD=0X00
RB0=0
RA3=1
RE0=0
RE1=0
PORTD=TRANS
RA3=0
REO=1

}

Il

void  WRITE2()

/ID
/[E1=1
11E2=0
IIRIW=1
/IA0=0
1l

I El

1l

1l

I 132
1l

1l

1l

IIADC

1l

1l

1l

I

1l D
/[E1=0
1E2=1
IIRIW=1
/IA0=0
1l

TRANS

1l
/ID
/[E1=0
1E2=1
IIRIW=0
/IA0=0
1
I1E2=0
IIRIW=1

WRITE
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TRANS=CLMADD  //

TRANS2()
LCDSTA2() Il
TRISD=0X00 /ID
RB0=0 JIE1=0
RA3=1 JIE2=1
RE0=0 /IRIW=0
RE1=1 /IA0=1
PORTD=WRITE I
RA3=0 /IE2=0
CLMADD++ Il 1
REO=1 /IRIW=1

}

Il E2

void  DISP2()

{ while(1) {
TRANS=0XAF
TRANS2() Il
LCDSTA2() Il
TRISD=0XFF /' D
RB0=0 /IE1=0
RA3=1 /IE2=1
REO=1 /IRIW=1
RE1=0 JIA0=0

if(RD5==0) break /I
}

}
IIE2

void  CLEAR2()

{
PAGEADD=0xB8  //

for(PAGENUM=0X04 PAGENUM>0 PAGENUM--){

TRANS=PAGEADD
TRANS2()
CLMADD=0x00 Il

for(CLMSUM=0X50 CLMSUM>0 CLMSUM--){

LCDSTA2() I
WRITE=0X00
WRITE2() /I OOH

}
PAGEADD++ I 1

}

}
I E2

void  DISOFF2()

{ while(1) {
TRANS=0XAE
TRANS2() I
LCDSTA2() I
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TRISD=0XFF /ID

RBO0=0 /I[E1=0
RA3=1 /IE2=1
REO=1 /IRIW=1
RE1=0 /IA0=0
if(RD5==1) break /!
}
}
/IE2
void lcd2()
{
DISOFF2() i El
TRANS=0XA4 1l
TRANS2() /!
TRANS=0XA9 i 1/32
TRANS2() /!
TRANS=0XE2 /!
TRANS2() /!
TRANS=0XA0 /IADC
TRANS2() /!
CLEAR2() /!
LCDSTA2() /!
DISP2() 1
}
/ILCD E1
void disl()
{
TRANS=row
TRANSL()
TRANS=PAGEADD
TRANSL()
i=i*32 Il
for(k=0 k<16 k++) {
WRITE=table[i+k] 1
WRITEL() /I WRITE1
}
CLMADD=CLMADD-16 //
PAGEADD=PAGEADD+1 // 1
TRANS=PAGEADD
TRANSL()
for( k<32 k++) {
WRITE=table[i+k] I
WRITEL() /I WRITE1
}
}
/ILCD E2
void dis2()
{
TRANS=row
TRANS2()
TRANS=PAGEADD
TRANS2()
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i=i*32 Iii
for(k=0 k<16 k++) {
WRITE=tablefi+k]  //

WRITE2() /I WRITEL
}
CLMADD=CLMADD-16 //
PAGEADD=PAGEADD+1 // 1
TRANS=PAGEADD
TRANS2()

for( k<32 k++) {
WRITE=tabl€fi+k] 1

WRITE2() /I WRITEL
}

}

I

main()

{
INITIAL() I
Icdl() /IE1
Icd2() IIE2
row=0XCO0 I

i
PAGEADD=0XB8 1
CLMADD=0X00 I
i=0 I
disl() 1
PAGEADD=0XB8 1
CLMADD=16 I
i=1 I
disl() I
PAGEADD=0XB8 1
CLMADD=32 I
i=2 I
disl() I
PAGEADD=0XB8 1
CLMADD=48 I
i=3 I
disl() I
PAGEADD=0XB8 1
CLMADD=0 I
i=4 I
dis2() I E2
PAGEADD=0XBA I
CLMADD=0X00 I
i=0 I
disl() I
PAGEADD=0XBA I
CLMADD=16 I
i=5 I
disl() I
PAGEADD=0XBA 1
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CLMADD=32

i=2

disl()
PAGEADD=0XBA
CLMADD=48

i=3

disl()
PAGEADD=0XBA
CLMADD=0

i=4

dis2()

while(1) {

}

1
1
I

1
1
I

1
1
I

E2

32

48

NOTE
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